YEAR 7 — APPLICATION OF NUMBER

Fractions and percentages ot amounts

By the end of this unit you should be able to:
*  Find a fraction of a guen amount
* ke a gven fraction to find the whole or other
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Equivalent: of equal value
Whole: a number with no fractional or decimal part

. Pt e of . ul Percentage: parts per 100 (uses the 7 symbol)
”‘cho & percentage of an amomt Using menta Place. Valve: the. value. of a digit depending on its place. in a number In our decimal number system, each place. is
*  Find the percentage of a given amount using a 10"tmes bigger than the place 1o ts right
caulator Convert: change into an equivalent representation, often fraction to decimal to a percentage cycle
| Froctlon of a given amount The bar represents the whole amourt ‘4‘O :
: find 2 of £205 . / e v [ %] :
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: Use a fraction of amount The wordng of the question is important to setting up the bar model | |
| g of d valve 15 70. What is the whole number? 70+ 2-3p 63 :
| ~a 70 / Each part of the bar Find the whoe |
: 1 model represents 35 % of a number is 63 Al ‘ Al ‘ al | 4l ‘ v I
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: The whole number is 105 14 ‘ ‘ ‘ ‘ ‘ ‘ ‘ v part |

The whole represents 1007/ 1
\ 07 = o of the whole
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Using a muttipier
Find 657 of 80

Fraction, dwma |, percentage. conversion

@ <+— The muttipler

r T T T
0% 20% 40% 60% 80% 100%

[ 0.65 x 80 - 52

_1 .2 .1
07 -1—Oofthe whole 507 m zofthe whole

This brings up the / button on screen
You will see 657/

Using the percent button
Find 65/ of 80

20/=£=lofthe whole Y4 -1 of the whole
10 5 20
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o | Type 65 You can ako use the
etho
05/ v . y caulator to support non
find 65/ of 80 % 65/ =10/ x6+5/ Press (suFr) (O (%) calcuiator methods and
; “(Bx )4 find 1/ or 10/ then ad
M ) =52 Press [X] 80 and then press = percentaoes together
Method 2

8]6[8]8[8)8)8|8]8]8 05/ =50/ + 10/ +5/
: “40+8+4 [ “of” can represent X in cakulator methods }

or bigger percentages i is sometimes easier to take away from -5



